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// Declare
int aqgi;

// Assign
agi = 200;

if (agi < 150)

{
System.out.println (

REfF ! ™) ;
}

else
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Solution
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// Declare
int num;
// Input
Scanner sc = new Scanner (System.in);
num = sc.nextInt();

(FEA)

if (num > 0)
{

System.out.println ("BIL&ARA " +num) ;
}
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Solution

I CT2Code CHI-findMax.ctc
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int numl;———
] Declare. ..
int num2,

int num3, ‘
numl=15 :EEEEE?
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Assign...

num3=25
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numl >= num2)

if (numl >= num3)
{

}

else

{
}

System.out.println (" KB E=" + numl);

System.out.println ("l KB A=" + num3);

}

else

{

if (num2 >= num3)

{
}

else

{

System.out.println ("B KB A=" + num?2);

System.out.println (" ARBUE=" +

}
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= BMI < 185 Z8/ [FeE=188K )
= BMI > 240 #E~ [FEUER ]
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BMI = B2&(AF)/B&(AR)?
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Thank You!



